CHAPTER 9

Inventories: Additional Valuation Issues

EXERCISE 9-2 (10-15 minutes)

	





Item
	
	


Net Realizable Value (Ceiling)
	
	Net Realizable Value Less Normal Profit (Floor)
	
	




Replacement Cost
	
	




Designated Market
	
	





Cost
	
	





LCM

	D
	
	$90*
	
	 $70**
	
	$120
	
	$90
	
	$75
	
	$75

	E
	
	80
	
	60
	
	    72
	
	  72
	
	  80
	
	  72

	F
	
	65
	
	45
	
	    70
	
	  65
	
	  80
	
	  65

	G
	
	65
	
	45
	
	    30
	
	  45
	
	  80
	
	  45

	H
	
	80
	
	60
	
	    70
	
	  70
	
	  50
	
	  50

	I
	
	60
	
	40
	
	    30
	
	  40
	
	  36
	
	  36

	
	
	
	
	
	
	
	
	
	
	
	
	


  *Estimated selling price—Estimated selling expense = $120 – $30 = $90.

**$90 – $20 = $70.

EXERCISE 9-3 (15-20 minutes)

	


Item No.
	
	

Cost per Unit
	
	


Replacement Cost
	
	

Net Realizable Value
	
	Net Real. Value Less Normal Profit
	
	

Designated Market Value
	
	



Quantity
	
	

Final Inventory Value

	1320
	
	$3.20
	
	$3.00
	
	$4.15*
	
	 $2.90**
	
	$3.00
	
	1,200
	
	$  3,600

	1333
	
	  2.70
	
	  2.30
	
	3.00
	
	2.50
	
	  2.50
	
	   900
	
	    2,250

	1426
	
	  4.50
	
	  3.70
	
	4.60
	
	3.60
	
	  3.70
	
	   800
	
	    2,960

	1437
	
	  3.60
	
	  3.10
	
	2.95
	
	2.05
	
	  2.95
	
	1,000
	
	    2,950

	1510
	
	  2.25
	
	  2.00
	
	2.45
	
	1.85
	
	  2.00
	
	   700
	
	    1,400

	1522
	
	  3.00
	
	  2.70
	
	3.40
	
	2.90
	
	  2.90
	
	   500
	
	    1,450

	1573
	
	  1.80
	
	  1.60
	
	1.75
	
	1.25
	
	  1.60
	
	3,000
	
	    4,800

	1626
	
	  4.70
	
	  5.20
	
	5.50
	
	4.50
	
	  5.20
	
	1,000
	
	    4,700***

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	$24,110


  *$4.50 – $.35 = $4.15.

 **$4.15 – $1.25 = $2.90.

***Cost is used because it is lower than designated market value.

EXERCISE 9-6

	Net realizable value (ceiling)
	$45 – $14 = $31
	

	Net realizable value less normal profit (floor)
	$31 – $  9 = $22
	

	Replacement cost
	$35
	

	Designated market
	$31
	Ceiling

	Cost
	$40
	

	Lower of cost or market
	$31
	


$35 figure used – $31 correct value per unit = $4 per unit.

$4 X 1,000 units = $4,000.

If ending inventory is overstated, net income will be overstated.

If beginning inventory is overstated, net income will be understated.

Therefore, net income for 2001 was overstated by $4,000 and net income for 2002 was understated by $4,000.

EXERCISE 9-13 (15-20 minutes)

	(a)
	Merchandise on hand, January 1
	
	$38,000

	
	
Purchases
	$72,000
	

	
	
Less purchase returns and allowances
	    2,400
	

	
	
Net purchases
	69,600
	

	
	
Freight-in
	    3,400
	    73,000

	
	Total merchandise available for sale
	
	111,000

	
	Cost of goods sold*
	
	    75,000

	
	
Ending inventory
	
	36,000

	
	
Less undamaged goods
	
	    10,900

	
	
Estimated fire loss
	
	$  25,100


	
	*Gross profit =
	33 1/3%
	= 25% of sales.

	
	
	100% + 33 1/3%
	



Cost of goods sold = 75% of sales of $100,000 = $75,000.

	(b)
	Cost of goods sold = 66 2/3% of sales of $100,000 = $66,667
	
	

	
	Ending inventory [$111,000 (as computed above) – 
   $66,667]
	
$44,333

	
	Less undamaged goods
	
	  10,900

	
	Estimated fire loss
	
	$33,433


EXERCISE 9-18 (20-25 minutes)

	(a)
	
	Cost
	
	Retail

	
	Beginning inventory
	$  58,000
	
	$100,000

	
	Purchases
	122,000
	
	200,000

	
	Net markups
	_______
	
	    10,345

	
	
Totals
	$180,000
	
	310,345

	
	Net markdowns
	
	
	    26,135

	
	Sales price of goods available
	
	
	284,210

	
	Deduct: Sales
	
	
	  186,000

	
	Ending inventory at retail
	
	
	$  98,210

	
	
	
	
	


	(b)
	1.
	$180,000 ( $300,000 = 60%
	
	
	

	
	2.
	$180,000 ( $273,865 = 65.73%
	
	
	

	
	3.
	$180,000 ( $310,345 = 58%
	
	
	

	
	4.
	$180,000 ( $284,210 = 63.33%
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	(c)
	1.
	Method 3.
	
	
	

	
	2.
	Method 3.
	
	
	

	
	3.
	Method 3.
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	(d)
	58% X $98,210 = $56,962
	
	
	

	
	
	
	
	

	(e)
	$180,000 – $56,962 = $123,038
	
	
	

	
	
	
	
	

	
	
	
	
	

	(f)
	$186,000 – $123,038 = $62,962
	
	
	


	
	PROBLEM 9-7
	


	(1)
	
	Cost
	
	Retail

	
	Inventory (beginning)
	$  17,000
	
	$  25,000

	
	Purchases
	86,500
	
	137,000

	
	Freight-in
	7,000
	
	

	
	Purchase allowances
	(2,200)
	
	

	
	Purchase returns
	(2,300)
	
	(3,000)

	
	Transfers-in from suburb branch
	      9,200
	
	    13,000

	
	
	$115,200
	
	172,000

	
	Markups (net)
	
	
	      8,000

	
	
	
	
	180,000

	
	Markdowns (net)
	
	
	(4,000)

	
	Inventory losses due to breakage
	
	
	(400)

	
	Sales
	
	$(85,000)
	

	
	Sales returns
	
	     2,400
	

	
	Net sales
	
	
	  (82,600)

	
	Ending inventory at retail
	
	
	$  93,000

	
	
	
	
	

	
	Cost-to-retail ratio =
	$115,200
	= 64%
	

	
	
	$180,000
	
	

	
	
	
	
	

	(2)
	Ending inventory at lower of average cost or market 
	

	
	   (64% of $93,000)
	
	
	$  59,520
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